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B.Com. Sem. VI (6) Examination
Business Statistics - II
(English Version )

Time:- 2.30 hours Total Marks :-70

Note:-Use of Calculator And Statistical Tables are allowed.

Q.1 {a} Define Probability and also explain Mutuaily Exclusive events, Independent events,
and Exhaustive Events, (04)

{(b}In a Certain Restaurant From the customers ordering Pizza 75% customers uses Tomato
Sauce, 80% are using special sauce named Punch. Whiie 65% customers are using both types
of sauce. If a customer is selected at random find the probability that he/she uses at-least
one type of sauce. Also find the prob, that he/she shall use tomato sauce when it is given

that he/she has used Punch Sauce. (06)

(c) in a Bag there are 4 Black and & Red balls four balls are taken at random from it. Find the

probability that there shall be exactly 2 Red balls in the draw. (04)
OR

Q.1 (a) Write and prove Addition Theorem of probability for two mutually exclusive events,

(04)

(b)A person is of 40 vears ageThe probability that he lives Up 5 the age of 65 years is 0.6 His
wife at present is of 35 years old and her probability of living up to the age of 60 years is
0.67 then find the foliowing probabilities,

{1) Both will alive after 25 years. (2) Only man will alive after 25 years.

(3) only wife will alive after 25 years. {06)
{c) Three cubical dice are tossed simultaneously Find the probability that the sum of
numbers on the dice is at least 16. {04)
Q.2 (a} State properties of Binomial Distribution. (05)
{b) probability distribution of a random variable " is as follows. Find (1) value of ‘P’ (2) E{X)
(05)
X;- -1 0 1
P(X) :- 6P 4p 2P ]
(C) Mean and Standard Deviation of a binomial distribution is 20 and 2 respectivly find _
parameters of the distribution. (04)

OR




7.2 (a) Siate properties of Mathematical Expeciation. {05)

{(b) Two coins are tossed simultaneously. For each Head Rs. 8/- is received and For each Tail

Rs. 10/-is to be paid, Find Expected value of amount received. {05)
( C) For a binomial Variate n = 6, P(2)= 0.2048, P(3)=0.0512 find value of p. (04)
Q.3 (a) State properties of Normal Distribution. (06)

(b) Using Poisson distribution for the following information find expecied frequinces. (08}
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OR

Q.3 (a) State probability function of Poisson Distribution and state its various uses. (08)

{b} For a Normal Distribution 45% observations are 40 or more while 9% of observations are
75 or more Using this information find Mean and Standard deviation of the distribution. (08)

Q.4 (a) Explain various stages of Testing of Hypothesis in Large sample Test (06)

(b) In two districts x and y of a state the no. Of illetrates are found to be 65% and 75% of
total population respectively, If sample of 1500 and 1000 persons are drawn from these two
districts. Can the difference be hidden among illitrates of these two districts ? (08)
(Test at 1% leval of significance ) :

OR

Q.4 (a) Explain in detail the method of Testing the difference between means of two large
samples, (06}

(b) For a Sample of size 1000 Mean = 17.5 and $.D. = 2.5 while for another sample of size
800 Mean=18andS.D.=2.7if both samples are taken indipendently.can it be believed

that samples are dran from the populations having same standard deviations ? (08)
~Q.5 (a) State varioususes of t —test in short. (06)
(b} Using following information test the hypothesis that both the samples are drawn from
the population having equal variances. (08)
m=10, n=12, ¥ {X,—X.)* = 120, Y (Xo— Xe)®= 314
CR

Q.5 (a) The following information is obtained for two samples Test the Hypothesis that (08)
Means of samples are equal. n;=10, n,=12, X, =300, X. = 560, $;=10, §,=11

(b}Explain F test, Explain its process of testing.and write a short note on Degrees of
Freedom. {06)



